Wheel Lock - 24" Wheel (Before 2/98)

THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE
AVAILABLE TO ORDER.

S |

Y

A\

7
™
e ~

7/

SO

\7

e o
§Q£

r—

I

I

P

; S 2
-

I

I

I

L —




Wheel Lock - 24" Wheel (Before 2/98)

THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE

AVAILABLE TO ORDER.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1028399-NLA | NLA - Strap, Wheel Lock 1 1
2 7930334-NLA | NLA - Locknut (1/4-28) 25 1
3 1020363-NLA | NLA - Spacer (1/4 x 1/2 x 1/2") 1 1
4 1026103-NLA | NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 1 6
5 1055346-NLA | NLA - Screw, Hex Head (1/4-28 x 3/4") 1 1
6 1055306-NLA | NLA - Screw, Button Head Cap (1/4-28 x 7/8") 1 1
7 1028411-NLA | NLA - Spacer (1/4 x 1/2 x 5/32") 1 1
8 1018733-NLA | NLA - Link, Stop, Black 1 1
9 1006490-NLA | NLA - Tip, Plastic, Black 1 1
10 1038344-NLA | NLA - Handle, Wheel Lock, Black - Right 1 1
10 1038345-NLA | NLA - Handle, Wheel Lock, Black - Left 1 1
11 1028416-NLA | NLA - Link, Wheel Lock, Black 1 1
12 1029420-NLA | NLA - Shoe, Wheel Lock 1 1
13 1055304-NLA | NLA - Screw, Socket Button Head (1/4-28 x 5/8") 1 2
14 1059284-NLA | NLA - Screw, Socket Button Head (1/4-28 x 1-1/4") 1 1
15 1026108 Lockwasher (1/4 x 15/32 x 1/64") 1 1
16 1029423 Wheel Lock, High Mount, Push to Lock - Right 1 1
16 1029424 Wheel Lock, High Mount, Push to Lock - Left 1 1
17 1039344 Kit, Wheel Lock Attaching Hardware (1" tubing) 1 1
NLA - Clamp, Wheel Lock, Threaded (1") 1 2
NLA - Clamp, Wheel Lock, Non-Threaded (1") 1 2
Screw, Allen Head (1/4-20 x 1") 1 4
AB 1026096-NLA | NLA - Clamp, Wheel Lock, Threaded (1") 2 1
AB 1026097-NLA | NLA - Clamp, Wheel Lock, Non-Threaded (1") 2 1
A.B 1027268 Screw, Allen Head (1/4-20 x 1") 4 1
NOTE: A - Included with Item 17.

B - Not Shown.

NOTE: If a complete assembly is desired, order the new style (After 1/99) to assure the upgrades are received.




